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Candidates must write the Code on the
title page of the answer-book.

o HYA ST H A foh 38 YA H Hfgd Y8 16 2 |

o THUA H M TN H IR U MU Fig TR Hl BH NIRRT ® @8 W
forg |

o FUN AR fh M IHTTH 27T F |

o THUIT UYA HT I FIEAT I[E HA W UgA, U9 T ShATH Aava ford |

e TH YHUA HI UG  fo1C 15 fire 1 Tm fean mn g | weA-uw o TR gatg
A 10.15 s fopam SIT@m | 10.15 &9 ¥ 10.30 S I B hddd IIH-UF I GG
3R 38 AT & GHF d IW-YIEIhT T HIg IR g faE |

e Please check that this question paper contains 16 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

NSCICRCEIC]

POLITICAL SCIENCE

REgiRa a7 : 3 o2 3BT 37% : 100
Time allowed : 3 hours Maximum Marks : 100

59/2 1 P.T.O.
Downl oaded From : http://cbseportal .conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal . conl

[ CBSE

QT 3397 :

G) @ IeT I |

(ii) Yo7 &I 1 -5 T% Ycddb 97 Uk 3% T & | Iedh F97 &7 I 20 Vgl &
37ferew 781 81T F0eT |

(iii) 97 G&IT 6 — 10 TH Tdb J97 §t 37h] &1 & | I J97 &7 T 40 o5 &
37ferem 787 81T F05T |

(iv) ¥97 &7 11 - 16 7% J9% 97 &R bl F7 & | Fed% 97 &1 It 100 Jg]
g 3ifees 787 &7 =iET |

() Y97 &I 17 - 21 T%F IF 97 Gid b &7 & | 9% J97 HT IH 150 Jeql
g 37ferE 757 &7 =0T |

(vi) 97 G&IT 21 TEE | TGNRT F97 & | 398 FH 3794 FR-Yeaawr 7
ferfea |

(vii) Y97 T&IT 22 — 27 TH 9% Y97 B: 3H] H1 & | Yod% 97 &1 IH 150 Isq]

& 3714 &7 &7 =&Y |

General Instructions :

)
(ii)

(i11)

(iv)

(v)

(vi)

(vii)

All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.
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1. “STRIE SRl $reA (3UH gie )’ 1 o qewa o1 2 1

What was the significance of ‘Operation Iraqi Freedom’ ?

2. < "YeRl < o9 f5ar = Alhdd o foIT wau w9 S g 2 1

Why is violence between two communities considered as a threat to

democracy ?

3.  WRAW &R W diHers fcad & YHE S 3Thad i | 1

Assess the impact of Valentine’s Day on Indian culture.

4. ®F QU1 YRA GHI gRT 1 TS ANheIAT % FIER 9g-gaa fava i forel wh
foriyar =1 ISR I | 1

Highlight any one feature of the multi-polar world as visualised by both

Russia and India.

5. a1 o fafte e & fow faeeE w1 31 srem-stem = gt @ 2 1

Why does development have different meanings for different sections of

the people ?
6. W AT feu U Al w1, W9 B’ H < T SHR] O Hieles o shifoT
&Y A’ &Y B’
(a)  sfeu wreh (1) 1952 " TR U T Teh AEG o4 &
(b) T HAE Alfea (i) 1975 % STdTahT | ferlier w1 wrelieh
(c) ST YehTST TR0 (iii) Sehl =T USRI
(d) STt T (iv) -8% o fovg 31 g e’ & fore foweam

axl-2
2
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Match the following meaningfully from the names in Column ‘A’ with the
information in Column ‘B’:

Column ‘A’ Column ‘B’

(a) Indira Gandhi (1) A Member of Parliament from
1952 till his death

(b)  Ram Manohar Lohia (i1)) Symbol of opposition during
emergency of 1975

(c) Jai Prakash Narayan (iii) Nationalisation of banks

(d)  Jagjiwan Ram (iv) Best known for his sharp attacks
on Nehru

7. Tefuerarn i Hifq YA % fow s1om feaq weEl i g @ e Tgne @2 2

In which way did the policy of Non-Alignment serve India’s interests ?

8. 1940 % @Ik <hl I < UsHIfdh 1Tt &1 favaiwor Hifu S grfeream &
T o ol & foru Sawerh off | 2x1=2

Analyse the two political developments of 1940s that led to the decision

for the creation of Pakistan.

9. i U TR W FuiEl o o § & 1 Ik 3 iR 7@ fean Siw, d
T EN 2 2

What will happen if the regions are not given their due share in
decision-making at the national level ?

10. 99 H g feufa s81a v | TSig et — AT gHEiidr shal deh d%hd

&l ? 2
How far did the Rajiv Gandhi — Longowal Accord succeed in bringing
normalcy in Punjab ?
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1947 ¥ 1962 dh WRA-< HF=] ol GUI hIfIT | 4

Describe Indo-China relations from 1947 to 1962.

T 2.1 (WTO) 1 faeqd &9 F1 8 ? 36eh! €A1 e g3 off 2 a8 Topm
TR IO R LA & ? 1+1+2=4

What is the full form of WTO ? When was it set up ? How does it

function ?

Avetentur o fepeal = aTTfefer aftomet <ht samean i | 4x1=4

Explain any four economic consequences of globalisation.

A | I e 1 Tcd, I < H ThA-ATel Iqcd & fopd Jhr forat o 2
TS HI | 4

What distinguished the dominance of the Congress Party in India from

the one-party dominance in other countries ? Explain.

1969 § 1977 % SN, 9Rd § Gl YOl § §U ATehd aRadH sl aieo
hIfT | 4

Examine the dramatic changes that took place in the party system in
India during 1969 to 1977.

1947 H WRA o fIuToH o fohgl =) 9iomEl i IR IR | 4x1=4
Highlight any four consequences of the partition of India in 1947.

59/2 5 P.T.O.
Downl oaded From : http://cbseportal .conl Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal . conl
17.

59/2 6
Downl oaded From : http://cbseportal .conf

[ CBSE

www chsaportal com

frafafiea g &1 eamyds sregeH hIfT don 35 Fi= T T 9w o sae
fafau -

(1)
(ii)

(iii)

T 3Tl & AT THER I cofled ¢d & foh gsard,

G TR Tefl SEt ATfgeh HRASAI d TEhR h IR TG 3T
ISl & | 3Th ATIR 8 TWE I AR ¥ TR i FHoi-sfshan
SIT BT 8 qAT TS <hl Alhdilieh oLl 97T Bidl & | 36 a8
1 geflcl Tk 3T T HaTel ol S0 <t 2 37 98 TaTd I8 2 foh o
eI UE g aifesh il 1 981 #&i od & ? 86 <l &
5 3 9 AGIed AT i TS AT BT JHAEE SR W 7 3N
35 TR o Teh og THE i 1T A1 SIS H HIHATS] BT hi
2 | g1 I8 39 91d W &4H A1 =1gY foh 39 S STl gry e
& I drel ST SR 3R e ®9 4 g quT ARG
al § Frey Tl R |

T 2Tere foh 31 TR shT ger a1 s w7 2

ATAERI g TeU U ekl & 3719 hal deh d8dd @ ?

S TGl § HET oF a7l TR Fg Moo €9 8 Jfed 998 &

i 81d & ?

1+2+2=5

Study the following passage carefully and answer the questions that
follow :

(1)

(i1)

(iii)

Critics of popular movements often argue that collective
actions like strikes, sit-ins and rallies disrupt the functioning of
the government, delay decision-making and destabilise the
routines of democracy. Such an argument invites a deeper
question: why do these movements resort to such assertive
forms of action ? We have seen that popular movements have
raised legitimate demands of the people and have involved
large scale participation of citizens. It should be noted that the
groups mobilised by these movements are poor, socially and
economically disadvantaged sections of the society from
marginal social groups.

Popular movements resort to which two types of assertive
actions ?

How far do you agree with the arguments given by the critics ?

Why are groups involved in popular movements mostly from
marginal social groups ?
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18. fr=Afafad Igior &1 eHydesh 3tea HIfe qen 3ueh A= fou 7u yodi & 3w
fefau
TR el 2T o STUETRd SIS <X  WETIRAT o |1 3TqH-3T9H
e 1 gEaara st fga # fram | 39 <un e ufagdl < %
Raet® e &1 arrer e, gform ot snfde weg fieft | g7 o
39 TSI SR W BIS off | HENIRRAl o Aqcd H TSHEd hi FaEl |
it g % Q@ =i | e I w1 @A 3§ T | 98 fovee we"
UEd U9 H FI | ufeet AT ok AMRAX S A SRR 1 ua for
Serfer gl AT Hifowd ©F | WA & =1 | 3T I @F gfgem 31k
“q&fl” TewE ft FEAd @ |
(i)  ufvad) qon goff TesYHl ¥ Heg TH-UH "ired w1 AW foAfEy |
(i) OR-BIC I UEEIRKA & TSSEHl | @bl A BT =Ed o 2
(i) ‘e yurell’ fhm yR fava @ fawfoa @ & o we waa
CERIER 1+2+2=5

Study the following passage carefully and answer the questions that

follow :

The smaller states in the alliances used the link to the
superpowers for their own purposes. They got the promise of
protection, weapons and economic aid against their local rivals,
mostly regional neighbours with whom they had rivalries. The
alliance systems led by the two superpowers, therefore,
threatened to divide the entire world into two camps. This
division happened first in Europe. Most countries of Western
Europe sided with the US and those of Eastern Europe joined
the Soviet camp. That is why, these were also called the

‘western’ and the ‘eastern’ alliances.

(1) Name one organisation each related to the ‘western’ and the
‘eastern’ alliances.

(ii)) Why were the smaller states interested in joining the super
alliances ?

(iii) How did the ‘alliance system’ threaten to divide the world ?
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fafay

(i)
(i1)

(iii)

Study the following passage carefully and answer the questions that

UIfhEde T SAlhdieh M I — 39k T I3 @M
ST T a1 fHetar | 36 a5z § ol 841 1 3191 T HrEd
T o ToTU sgraT e § | THdehT qan 1= gfvaH] o 3 3794-31H
et ¥ TR Ik uifehed H A e o seren fean | g g
I 3T ATAHRAIE H S Al 3 o8 I 291 “Torvdeard] et ATdehdre
Fed & | 31 oE A ff =X marr R f wifkeam % wfuaes
BRI &l 37 TR TRl % &Y T o ¢ | 37 MGl b HeATH
Tfered™ bl I <31 9fT=d qem <feror uftrn | ufvedt f&di o1 T@eren
HHd 8 |
“TorgersaTd} sEaTHt 3TTdehaTe | @ SR B 2
QTR hl Sllehdii=ieh M o T 3fea sTauisd auda «=i =&l
fo 2

qTfeRed™ o &feh wTeH w1 afgem qon eferor uftrmn |, afyeeh e o feat
1+2+2=5

1 TEGATAT A FHEAT ST 9T 2

follow :

(1)
(ii)

(iii)
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The lack of genuine international support for democratic
rule in Pakistan has further encouraged the military to
continue its dominance. The United States and other Western
countries have encouraged the military’s authoritarian rule in
the past, for their own reasons. Given their fear of the threat of
what they call ‘global Islamic terrorism’ and the apprehension
that Pakistan’s nuclear arsenal might fall into the hands of
these terrorist groups, the military regime in Pakistan has been
seen as the protector of Western interests in West Asia and
South Asia.

What is meant by ‘global Islamic terrorism’ ?

Why did Pakistan lack genuine international support for
democratic rule ?

Why was the military regime in Pakistan considered as the

protector of Western interests in West Asia and South Asia ?
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20. I feu MU A H ergEs TerE i qur 35ek fi= iU Ty % 3w
fafem

(i)  Grestes & 3R foft & % i gqea s W & foe €2 @ darer
JTel Sk I IE=THT, ql 38R AW faRaT |

(i)  IEd H HIASIHh & hl TR IAeeh Fehral FA1 fG@T T 3 2

(iii) HEWH® &7 W AP 9 U I o HRU, YRAT efedesen W
ERRIEI N 1+2+2=5
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Study the cartoon given below carefully and answer the questions that

follow :

1) Identify and name the person who is holding the balancing beam
between the public sector and the private sector.

(ii)) Why has a big tilt towards the public sector been shown in the
cartoon ?

(iii) How did the over-emphasis on public sector adversely affect the

Indian economy ?
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e : Aeferfiaa 397 Fac ﬁw@ﬁqﬁan@fa% & 7%17, 37 G&IT 20 F i €« &:

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1)

(20.2)

(20.3)
(20.1)

(20.2)

(20.3)

T h1 HH-H-HT Teh IGTEWT hl TRl ¥ Hieseh & R Feht

&9 7 R e HifT |

A TeH I IF H Tad §U, 319 fhH JhR i sTefedaw i
TrerfHehar &t SR &= 2

JeteRtoT 3 TohE TehT o TR &35 whl wigran feam @ 2 2+2+1=5

Distinguish between the public sector and the private sector

with the help of at least one example each.

Keeping in mind the Indian context, which type of economy

would you prefer and why ?

Globalisation has promoted which type of economic sector ?

21. foava & fou 7w qorifos w@amtm g a= g & @), B, ©, O 7 @
TR ST TR 2 | A S IHeH) < HgRdT ¥ 3 UgHl-U qoT 3% Fal
I, TN hl TS THEBR hl HhH-EEAT 99T Href-ed 18R Higd, effaq

qTicTeRT oh ATEAR AT IT-gfeaent | foafem :

TN <Rl TS SR

£ aEE Graf-yd 318/ | & BT I

(1)

(i)

(iii)

(iv)

(v)
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() 98 3 J&f 1987 § Hifedaet Mehicl W e fohw u |

(i) 39 U H He 2 6 TG F e § FH w Al ygE e
ferenféra a1 2 |

(i) I8 X o GEaH ATGIeHl o o foeama 2 |

(iv) Shepfed 9E1 9T STHE-YE o oi ! s9H & (00, Ygenn srg-fomeh
3G 38 <9 § =l |

www chsaportal com

(v) fova <1 waifies @S 91 3Tk <9 | 5x1=5

In the given political outline map of the World, five countries have been
shown as @), @), ©, © and (E). With the help of the information given
below, identify these countries and write their correct names along with
the serial number of the information used and the related alphabet as per
the following format in your answer-book :

Sr. No. of the Alphabet | Name of the
information used concerned country

(1)

(ii)

(iii)

(iv)

v)

1) The county where Montreal Protocol was signed in 1987.

(i1)  This country is of the view that the major responsibility of curbing
gas emissions rests with the developed countries.

(iii)  This country is known for its forest movements.

(iv)  The first anti-dam movement aimed to save the Franklin River
and its surrounding forests was launched in this country.

(v)  The largest producer of mineral oil in the world.
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el Jo7 dacl givanad Ghefel & 1o/, Jo7 G&IT 21 o «ui 4
The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) o 999 ¥ 9 & Rl g waterefi gei i Seoi@ hifu |
(21.2) 1992 1 gU ‘Yol HHHTH % HEE I T HINT |
(21.3) T Uit sl fohedl g fomransti &1 IR i | 1+2+2=5

(21.1) Mention any two environmental concerns that have a long
history.

(21.2) Explain the significance of ‘Earth Summit’ held in 1992.
(21.3) Highlight any two features of the Kyto Protocol.

wd § fafagar 9§ wehar sA@ W & faw q@ & gl 9 TR st 9uiH

e forenl a1ft g foman ST &Y B 3x2=6
Jreran

1989 % U, WRA o ST ASHIdeh Sl § el g3 Feald i fheal o

&I I1dl 19U ST | 3x2=6

Describe any three areas of tension which are yet to be solved to retain

unity in diversity in India.
OR

Describe any three elements of growing consensus among most of the
political parties of India after 1989.

“srishl T 1 IfoY & 3Hek UfdehR T ThATH fashed B 17 a=eaet 3t
T § $Eeh! T hich, 39 Y i ~ATIETA 38UST, | 6

AT

“Uurer 2R va & s W fafsre avsry § fSeehl gomn fave o foreft st @ &
2 T8 Tehd! |7 fohedl 1 3IUYTH TRl gIRT 3 U I IATIET 38T | 3x2=6
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“Resistance is the only option available to overcome the U.S. hegemony.”
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Justify the statement by comparing it to other anti-hegemony strategies.

OR

“Nepal and India enjoy a very special relationship that has very few
parallels in the world.” Justify the statement with any three suitable

arguments.

24. 1945 H GIYH TS h1 TATYAT o YFH § 38 fohr@ hl FR@T T4 T |

fafir grerTeTt 9o TSt <hl HeTdr ¥ SHehT 1 hd BIdT 8 ? 4+2=6
Jrera

dfvaes feaar @ @ stfima @ 2 dfvass T i qun o1 & i 6 @re

(STHHTAT) I T I & T HIE gl A FTT | 2+4=6

Trace the evolution of the United Nations since its establishment in 1945.
How does it function with the help of its various structures and agencies ?

OR

What is meant by global poverty ? Suggest any two ways to reduce
disparity between the poor and the rich at the global level.

25. T9-FAASET 3Nk Faen (NIEO) sht 9RO ol F=H ¢ areft aifefa=i ot
IR HIT | 38 TAE 1 HAAR a9 a1 (ohal &l BNehl shl AR

i | 4+2=6
AYAT

gifea w9 & faees 7 o 9 it @ fova aoifa =& gl fran 2 =men

i | 3x2=6

Highlight the circumstances which gave birth to the idea of New
International Economic Order (NIEO). Explain any two factors that
weakened this initiative.

OR

In what three ways did the collapse of the Soviet Union affect the world
politics ? Explain.
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WW%%%@W%%‘WWﬁ%:ﬂﬁﬁ . Ta_;;'l%}rpwucm
U1 @I 2 2 39 I o THLT H g dF IUIYH qob GITIT | o

AT

“ara ARt i Ui HT T Yad Tnds R TINg (A%arg) i
fifc =1 gt fatieht W1 8 17 39 e o 98 H g iF SUIYH dob GITaT | 3x2=6

Do you agree with the statement that “the foreign policy of independent

India has pursued the dream of a peaceful world” ? Support your answer

with any three suitable arguments.

OR

Give any three suitable arguments in favour of “India being a staunch
supporter of the decolonisation process and in firm opposition to

racialism”.

1975 H TN T AR § TEgH(d T oy o &9 § "feq nfafafrmy =
ISR HIfTT | ATYhT T |, 37 AT bl SHHEd W T JHTd IST 2 4+2=6

HYAT

Sfeu s fGiene’ o ge 1 fawomor KT | 39 e 1 sfeu it & wma fha
YRR hi AT Tqad hi ? 2+4=6

Highlight the acts of dissent and resistance to the Emergency imposed in
1975. In your opinion, how did these acts affect the public opinion ?

OR

Analyse the issue ‘Indira vs the Syndicate’. What type of challenges did
the issue pose before Indira Gandhi ?

23,300
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